o |

& B 2235 T B Matex

]

2% sH

TR AT B4 PR i R e
A A T X TR A 2 i [ AL 22

A

, e BRI AT AR IR N A

R i@ LB

® ML v
® LN v
® LNl v

Zﬁ% g . % ;

/// - 8
8 75 7% 151 R o i / 35 =
B 20%25 (mm) . —

PR E AR A
W e, B AR N Z A (TR 2%



Matex & &

KR PR =% S A
L BB E R CRR USRI ) SRR L #8 (@) MM ELEIR, B AA S 1 5 AR
(@) WHHRZ LTI AR, E AT R 5 PA S iR £L s

kAR (@) 5 (B
2. &4k () F# (@) Wid#EEM (@) #ATE

2. B Z R R, AL RS (@) #t17 B GAdBRERE ) , HASER, HRK%Z
w2 (BT 3, YREIAEH T
ﬂﬁ% = SHe 4 o ) IS S R
/ 3. MERE DR R T E AT R, B AN S O AR
f T
] H
1S .
- ARARIA
NN
23t
HERRR T B A
R (o Bs Ssi S M3 MA#! MBE! LB LiF® LAB! LA ELZ EL4FE!
A 80 80 100 120 150 150 150 150 150 200 200
B 28.5 30.5 46.5 46.5 46.5 61 65 61 65 69 69
Cc 10.5 12.5 16.5 16.5 16.5 21 25 21 25 25 25
D 20 22 30 30 30 39 £ 39 4 44 44
E 25 25 25 25 25 30 30 30 30 32 32
b 15 15 15 1S 15 15 15 15 15 15 15
G 6 6 10.5 10.5 10.5 13 16 13 16 16 16
BREE 10X 15 | 20x 25|20 X 25|20 x 25|20 X 25|30 x35|30Xx 35|40 x45|40x 45|30 x 35|40 x 45
BREE 2 25 3 3 3 3 4 3 4 4 4
EAEEEE 10 156 | 20 25 | 20 25 | 20 25 | 20 25 | 30 35 | 30 35 | 40 45 | 40 45 | 30 35 | 40 45

20 25 | 30 35 | 30 35| 30 35 | 30 35 | 40 45 | 40 45 | 50 55 | 50 &5 | 40 45 | 50 55
IESHIRE M10X70 | M12x80 | M16X90 | M16X90 | M16xX90 [M20X120|M24X120|M20x130|M24x130|M24X120|M24x130

SERRME (Nnm) 66 114 282 282 282 550 945 550 945 945 945

1EHE 8 8 8 84 84 84 84 84 84 A 8p
1EES (ko) (89) 3.4 4 7.6 8.6 10 18 19.6 20 22.8 26.5 29.8
IREEE (ko) (81R) 0.5 0.7 1.4 1.4 1.4 2.8 4.1 3 4.4 41 4.4

T RS e TR LA PR A 7]

oo db TS L X R %2945
Tel: 0510-88267015

E-mail: info@wx—matex. com

M 3k (Website): www. wx—matex. com

ST SR B, S TAATEE, 8 T .



